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Abe Mirza                         Rational Expressions                       Algebra 
 
  

When there is an open mind there will always be a frontier.  – C. Kettering 
 
Factor each expression and then cancel common factor from numerators and denominators.   
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Multiply or divide and write each answer in lowest terms. 
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Add or subtract and write each answer in lowest terms. 
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Simplify each complex fraction. 
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Solve each equation.  
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28. A hanging spring will stretch 4 in. if a weight of 8 Ibs is placed at its end.  How far will the spring 
stretch if the weight is increased to 10 Ibs? 
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Divide the followings;  
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